
¶Jlnn %I~ B,

1 2 3

1 21 20 22 63

2 20 19 21 60

3 20 19 22 61

4 18 19 20 57

5 18 17 18 53

6 18 18 19 55

7 18 16 19 53

8 16 15 18 49

t9 16 13 15 44

1 0 15 14 16 45

T, 180 170 190 540 = G

o~i~crs~~~Cya~w4enmaounaul~pmPi~~~u~ti~~~duiim~

t = 3, r = 10, CF = (540)‘/30  = 9720, XT;/10 = 9740

iZB;/3  = 9848,X.x; = 9876

(1) SST = 9876-9720 = 156

(2) SSTr = 9740-  9720 = 20

(3) SSB = 9848-9720 = 128, SSE = (l)-(2)-(3) = 8

ST 332 UI) 2 9























6113lJLLtWl9  cell total (X,)

h8n (i)

1 440.3

2 186.7

3 110.9

4 51.8

118.0 177.2 186.6 157.4 150.5 789.7

C F =  (789.7)WO =  15J90.65

z>lrxx:,,  = (34.2’+37.2’+  . ..+4.7=)  = 24,894.43

IT i/r s = {(440.3)‘+...+(51.8)‘}/(5)(2)  = 24,370.3

f~Xf,,/s  = {(71.4)‘+(25.6)‘+  . . . +(8.5)‘}/2  = 24,825.78

IBpts = {(118)‘+(177.2)2+  . ..+(150.5)‘}/8  = 15,946.05

(1) SST = IZZX;,-C  = 9303.78 (39 W

(2) SSTr = ITi/rs-C  = 8779.65

(3) SSB = IB)/ts-C  = 355.40

(4) SS(units)  = XIX: 1s -C = 9235.13 (Wd9

(5) SSE = (d)-(2)-(3) = 100.08

(6) SSS = (l)-(4) = 68.65

ANOVA

s o v

L33wd%wl

imCi-ibu

dl%b~T-iX:oi

(sampling error)

df ss M S F

4 355.40 88.85

3 8.779.65 2.926.55 853.2..

1 2 100.08 8.34

20 68.65 3.43

39 9,303.78

4 0 ST 332 (H)














